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H MW | (mL | cmB | (cmR
ZE(XY) 30 1.2 10.0 350,000
TZE(=EY) 30 12.0 500,000
ZE(ZY) 40 15.0 900,000
ZE(XY) 45 18 20.0 1,550,000
A=Y 50 25 25.0 2,100,000
1 FE(EHS) 30 8.0 110,000
FE(6EHS) 35 10.0 170,000
FE(GHS) 40 12.0 270,000
FE(HS) 40 15.0 360,000
FE(EHS) 45 20.0 770,000
FE(6HS) 50 25 25.0 1,150,000
FE(HS) 6.0 30 30.0 2,000,000
HIEAIHIO[OF 35 6.0 90,000
HIEAIRIO[OF 40 8.0 150,000
HIERMRIOlOF 45 10.0 230,000
2 HIEAIHIO[OF 5.0 120 300,000
HIEAIRIO[OF 55 15.0 480,000
HIERMRIOOF 6.0 180 640,000
HIEAIHIO[OF 6.5 20.0 1,200,000




200,000
300,000
390,000
540,000
830,000
1,380,000

2,500,000
3,500,000
6,000,000
7,500,000

1,700,000
3,200,000
3,700,000
5,000,000
6,500,000
8,000,000
13,000,000

150,000
200,000
300,000
350,000
700,000

1,200,000
3,000,000

1,200,000
2,000,000
4,000,000

6,000,000
7,000,000
9,500,000
13,000,000

8.0

10.0

12.0

15.0

20.0

25.0

30.0

35.0

40.0

450

15.0

20.0

25.0

30.0

35.0

40.0

60.0

25.0

30.0

35.0

400

450

50.0

55.0

1.5

20

0.8

1.0
1.2
1.5
2.0
2.5
3.0

25
3.0

35

40
6.0

6.5

7.0
80

9.0
9.5

3.0
3.5

40
45

50
55
6.0
0.8

1.0
1.2
1.5
1.8
20
25
8.0

85

9.0
9.5

10.0

11.0
1.5

g0
k{0
<

ALISZE)
ALIREZD)

ALISZE)
ALIREZD)

AURISTH)

E
<K
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=3
= T35 TEE | o] 7}
(mw | (mL
FE(EFTSE) 0.3 10,000
FE(EFTS) 0.4 15,000
FEESZY) 0.5 35,000
FEEZY) 0.6 40,000
FE(ESZY) 0.8 90,000
FEESZY) 1.0 140,000
8 FEEZY) 1.2 250,000
F2(MF=Z) 0.6 130,000
ES=IPUES =) 0.8 220,000
FEMFE) 1.0 430,000
FE(MFZ) 1.2 1,000,000
ES=IPtES =) 15 1,800,000
ES=TPCES ) 18 3,100,000
MQ=ut 0.4 20,000
MU=l 0.6 50,000
o MQ=ut 0.8 80,000
MQ=ut 1.0 150,000
MU=t 1.2 230,000
MQ=ut 15 350,000
W[HE=] 27,000
10 CHLES 35,000
= 45,000
7IAILER 180,000
y TIAILER 300,000
7IA LR 500,000
7IAILER 850,000
AL 50,000
AL 80,000
A 110,000
12 AL 170,000
AL 210,000
A 340,000
AL 740,000
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B e e N B 714
H MW | (mL | cmB | (cmR

ALIR 25 5.0 70,000
ALIR 30 6.0 90,000
p; ESHI=] 35 8.0 110,000
13 ALIR 35 10.0 180,000
p; ESHI=1 40 12.0 230,000
p; ESHI=] 40 15.0 450,000
AL 45 20.0 900,000
TRICHE (A OIHT) A 20 6.0 180,000
SRCHE(HATHD) 25 8.0 250,000
TRICHE( AR 30 10,0 450,000
TRICHE( A0 R 30 12.0 600,000
DRHCREL(AQITHE) A 35 15.0 1,400,000
i FECHZ(PLHE)Y 35 20.0 2,500,000
DR (AT S 20 6.0 200,000
FEHS(FLTD)E 25 8.0 300,000
SAHE(SYHI)E 30 10.0 500,000
DRI (AT S 3.0 12.0 600,000
FEAHZ(FLTD)E 35 15.0 1,500,000
TRICE(AOICHT)S 35 20.0 3,000,000
=P 30 6.0 120,000
Z530t 35 8.0 230,000
15 2250t 35 10.0 300,000
=P 40 12.0 400,000
ZEA0} 40 15.0 450,000
Z At 30 6.0 70,000
ZAtt 35 8.0 110,000
16 ZAt 40 10.0 150,000
LAt 40 12.0 220,000
LAt 45 15.0 350,000

=hal 08 3,000 2-3%|

i =5 1.0 4,000 2-3%|

= 1.2 5,000 3X|
=il 15 10,000 5%
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= +53 AT Ax A—-I_-il_' = ° EXE
el SS F1(m) | FERE | FpZo|| 8nxF | 2R 7124
H MW | (mL | cmB | (cmR
EZh 30 6.0 70,000
CZh 35 8.0 150,000
EZHR 35 10.0 320,000
e N 40 120 440,000
EZh 40 15.0 850,000
LELS 30 6.0 80,000
LELR 35 80 90,000
LELIR 35 10.0 140,000
LELS 40 120 200,000
LELR 40 15.0 400,000
LELIR 45 20.0 750,000
LE|LIS 35 8.0 110,000
LELIR 40 10.0 150,000
LE|LIR 40 12.0 240,000
LELIR 45 15.0 440,000
LELIR 45 20.0 870,000
LE|LIR 45 25.0 1,350,000
LE|LIR 5.0 30.0 2,100,000
CHEEILIS 35 8.0 120,000
CHEEILIR 40 10.0 190,000
CHRYRILIR 45 120 270,000
CHEEILIS 45 15.0 480,000
CHEEILIS 50 20.0 900,000
CHRYRILIR 5.5 250 1,300,000
SHLIRE, 3) 1.0 0.3 30,000
SHLIRE, 3) 1.2 0.4 40,000
SHLIR(E, 8) 15 0.6 70,000
SHLIRE, 3) 2.0 0.8 80,000
SHLIRE, 8) 25 1.0 120,000
SULIR(E, 8) 30 1.2 10.0 350,000
SULIRE, 3) 35 15 15.0 1,500,000
=L 30 6.0 70,000
SIS 35 8.0 110,000
=L 35 12.0 350,000
=L 40 15.0 600,000
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e oo -r—l—(m) = ko] snxd | 2EHEY 7
H MW | (mL | cmB | (cmR

i[ofi= 30 6.0 100,000

opt=s 35 8.0 120,000

o= 35 10.0 190,000

> o= 40 12.0 340,000

op=s 40 15.0 530,000

o= 45 20.0 950,000

OHAILF(OHSH ) 30 6.0 60,000

OHAILFR(0HSH ) 35 8.0 90,000

25 OHAILF(OHSH ) 35 100 140,000

OHAIL (O SHF) 40 120 250,000

OHAIL (0 T) 40 15.0 500,000

LR 20 40 60,000

LIS 20 5.0 90,000

LIS 25 6.0 130,000

LR 25 80 250,000

26 HLIS 3.0 10.0 380,000

LIS 35 12.0 550,000

LR 40 15.0 700,000

HLIS 40 180 1,100,000

LIS 45 20.0 1,800,000

DAL 30 6.0 60,000

SRR 35 80 110,000

- SRR 35 10.0 180,000

DUFLIR 40 12.0 250,000

SRR 40 15.0 450,000

SRR 45 20.0 850,000

Zap R 30 6.0 90,000

L=/ B 35 80 120,000

=i/ B 35 10.0 170,000

Zp R 40 12.0 200,000

8 L=/ B 40 15.0 440,000

=i/ B 45 20.0 940,000

L=/ B 5.0 25.0 2,000,000

=i/ B 5.5 30.0 3,000,000
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e +&8 21(m) | 2 411& E0xlA | 2y o HIZ
= Te e | ==1 714
H MW | (mL | cmB | (cmR
P52 U HEU) 2.0 0.6 5.0 100,000
235712 U HA) 20 0.8 6.0 130,000
F330Es L FAE) 25 08 8.0 240,000
23572 U HAU) 30 10.0 430,000
SH(UWEH, XI5H) 25 6.0 100,000
SHUW=A, Xj5H) 30 8.0 120,000
SH(WM=H, XI5H) 35 10.0 180,000
SH(WEH, XI5H) 35 120 300,000
SHUW=A, XI5H) 40 15.0 500,000
SH(WM=H, X153 45 20.0 900,000
HHSLIS 25 6.0 140,000
HHSLIR 30 8.0 200,000
HHSLIR 35 100 300,000
HHSLIR 35 12.0 550,000
HHSLIR 40 15.0 1,200,000
HHSLIR 40 20.0 2,700,000
HHSLIS 45 25.0 7,000,000
HHSLIR 45 30.0 12,000,000
HIELF(ZIT B CI7 ) 0.3 27,000 | 3x[0}4, &7
HHELF(ZIT B, CHZ2 ) 05 0.4 45000 | 5X[0}A, &7
HHSLFS(TIT I C}7 1) 1.0 0.4 75,000 | 3%x[0AL 27|
LI C}7hs) 1.2 0.4 85,000 | 3X[o}4, &7
HHESLF(T T CH7 k) 15 0.6 109,000 | 3X[0|4, &7
HiELFR(ZITHE CF7FS) 2.0 0.8 300,000 | 3X[0|A &7
HHSLIR(E s, CH ) 25 1.0 450,000 3X[0JAt
HHSLIR(ETH, QIH) 15 20 70,000 =
HHS LTI ALY, 2IchS) 15 30 115,000 27|
HHS LI (E L, 2|CH) 15 40 145,000
HHS L (Z L, 2|CH) 20 5.0 185,000
SX17| 30 6.0 60,000
Exp 35 80 100,000
Exp 35 10.0 140,000
=N 40 12.0 240,000
EXp 40 150 330,000
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e +5% 23m) | 2 #T;n soma | 2enn | e
el s Sl T =
H MW | mL | (emB | (cmR
M 30 6.0 60,000
Aeth 2 35 80 120,000
33 At 2 40 10.0 200,000
M 40 12.0 280,000
At 2 45 15.0 410,000
AR 30 6.0 75,000
Mg 35 80 145,000
o M 40 10.0 230,000
AR 40 12,0 380,000
MES 45 150 440,000
Mg 45 20.0 880,000
0ZEUR 30 6.0 90,000
0Z2UR 35 80 150,000
- 0=23LF 35 100 250,000
0ZEUR 40 12.0 400,000
0Z2UR 45 150 600,000
0=EUR 5.0 20.0 1,100,000
AL 30 6.0 100,000
AL 35 8.0 150,000
36 AL 35 10.0 270,000
AL 40 12.0 380,000
AL 40 150 550,000
QLR 3.0 6.0 130,000
LR 35 80 200,000
37 LR 40 10.0 300,000
QLR 45 12.0 500,000
AR 45 150 800,000
A 25 5.0 120,000
He 3.0 6.0 150,000
38 AL 35 80 200,000
A 35 10.0 300,000
He 40 12.0 400,000




80,000
170,000
220,000
450,000

680,000

75,000
110,000
200,000
300,000

400,000

85,000
125,000
160,000
220,000
270,000

80,000
130,000
170,000
240,000
400,000

80,000
130,000
170,000
240,000
400,000

80,000
130,000
170,000
240,000

400,000

80,000
130,000
170,000
240,000
400,000

6.0
8.0

10.0

12.0

15.0

6.0
8.0

10.0

12.0

15.0

6.0
8.0

10.0

12.0

15.0

6.0
8.0

10.0

12.0

15.0

6.0
8.0

10.0

12.0

15.0

6.0
8.0

10.0

12.0

15.0

6.0
8.0

10.0

12.0

15.0

3.0
3.0

35

40
40
3.0

35

3.5

40
40
3.0

35

35

40
45

3.0
3.5

40
40

45

3.0
35

40
40

45

3.0
3.5

40
40

45

3.0
3.5

40
40

45

g0
k{0
<

ok

Hot
Hot
Hot

A

A

A
APARLE

ok

ok

ok

ok

ALY

M

A
MsalLe

AESTHE

Axae

Axae

AESTE

E
<K

39

41

42
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H MW | (mL | cmB | (cmR
ERLIR 30 6.0 80,000
ERLIR 35 8.0 130,000
46 EFIS 40 10.0 170,000
ERLIR 40 120 240,000
ERLIR 45 15.0 400,000
Mesitst 20 40 100,000
MEsHES} 25 5.0 150,000
47 MEsHES} 30 6.0 200,000
Mesitst 30 8.0 400,000
MEsHES} 35 10.0 800,000
07 |SHHLI 12 0.4 40.000
o7 |S LI 15 0.6 60.000
OH7 |SHHLIR 1.8 08 100,000
48 o7 |SHHLIZ 20 1.0 130,000
o7 |S LI 20 12 180,000
OH7 |SHHLIR 25 15 270,000
OH7 |SHHLIR 30 18 440,000
ZEA 15 0.6 90,000
Z=M 20 1.0 160,000
2= 25 12 350,000
== 30 15 500,000
s Z=M 35 20 800,000
FEM=EF) 25 25 1,200,000
FEMZY) 30 25 1,800,000
FEMED) 3.0 3.0 2,400,000
FEMED) 35 35 4,000,000
FEMZY) 40 40 7,000,000
2=M 15 0.6 90,000
2=M 20 1.0 130,000
50 254 25 12 250,000
2=M 30 15 400,000
2=M 35 20 700,000
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=d +5% +7(m) | $BE | 4£BZ0|| BTN | 2 57?;45 Hl=
H MW | (mL | cmB | (cmR
2EM=EH) 25 25 800,000
2EMZED) 30 25 1,500,000
50 2=MZY) 30 30 1,800,000
2EMZED) 35 35 4,000,000
2EM=EF) 40 40 6,000,000
OfELts 30 6.0 75,000
O[ELIT 35 8.0 110,000
. OELtT 35 10.0 180,000
OfELts 40 12.0 310,000
O[ELIT 40 15.0 470,000
OELT 45 20,0 820,000
KL 30 6.0 90,000
KL 35 8.0 150,000
52 KL 35 10.0 200,000
KL 40 12.0 300,000
KL 40 15.0 430,000
INFEINES 30 6.0 45,000
NSNS 35 8.0 110,000
- INFEINES 35 10.0 160,000
INFEINES 40 12.0 230,000
NFEINES 40 15.0 360,000
NFEINES 45 20.0 600,000
RSB 35 5.0 60,000
NES BT 35 6.0 90,000
54 NES B 40 8.0 140,000
RS B 45 10.0 230,000
NES B 5.0 12.0 320,000
S2HE 35 8.0 140,000
22 35 10.0 180,000
55 S22 40 120 240,000
S=HE 45 15.0 320,000
E2HE 5.0 20,0 610,000




e E R

T
= 45 23(m) | 4BE |80 i
= | Te 71
H (mWwW | (mL

HHE 3.0 70,000

HHZ 35 110,000

HEHE 35 200,000

56 HH=E 40 300,000
o= 40 450,000

HEHE 45 850,000

HHE 45 1,400,000

SHE 30 100,000

S 35 210,000

S 35 380,000

57 U2 40 590,000
S 40 890,000

S 45 1,800,000

U2 45 3,500,000

Eg4 1.0 04 60,000

P 35 140,000

8 S 35 240,000
Egs 40 370,000

P 40 700,000

S 45 1,300,000

Extat 30 110,000

Xt 3.0 150,000

EONT} 35 210,000

Extat 35 290,000

5 EONGT) 35 370,000
ERIEHCH ) 1.0 0.4 40,000

ERIEHCH ) 1.2 05 50,000

ERIEHCH ) 15 0.6 90,000

EXIEHCH ) 1.8 0.8 120,000

ERIEHCH ) 20 1.0 160,000
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Sl +3% 237(m) | 42k —T—Eia;l 70X | 2EH e H|Z
S - e | == 714
H MW | mL | (emB | (cmR

AAHELIR(SI0|ELIMRA) - 1.0 40 70,000

HAMHELIR(SI0|[ELZA=A) | 1.2 5.0 120,000

66 | AMAMHELIR(S0[ETIERA) | 12 6.0 160,000

AMHELIR(S0|ELIMRA) | 1.8 8.0 240,000

HAMHELIR(SI0|ELIA=A) - 20 100 400,000
itz 1.0 2,900 2-3X%|
67 Ltz 12 3,300 2-3X|
ZHLt2] 15 4,600 3-5X|

HELRHHELR) 08 7,100

68 FELRONHELSR) 1.0 8,700

HELIFOHHELR) 1.2 14,700

I 0.4 0.25 1,500

69 S 0.6 0.3 1,800

S 08 0.4 2,800

Zeiy 0.6 0.25 4,000

70 2oz 08 0.3 5,000

ZeiY 1.0 05 6,000

i) 1.0 0.3 4,500

Hds 1.2 0.4 7,000

71 Hds 15 0.6 14,000

s 18 08 37,000

LAE 20 1.0 59,000

RIS 0.3 0.4 10,000

72 RIS 0.4 05 15,000

EEILISE 0.4 0.6 20,000

SA3} 20 20 38,000

2 SA35} 20 30 70,000

S48} 25 40 90,000

S48t 25 5.0 180,000

HELIR 08 0.3 8,000

- HELIR 1.0 0.4 12,000

LR 12 05 22,000

HELIR 15 0.6 33,000
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A AXIH EiI'E
& =354 £1(m) | = | 2ZO| 7+
H (mw | (mL
SL2 1.5 10,000
SUF 2.0 14,000
75 SLIE 2.0 28,000
SL2 25 37,000
SUF 25 80,000
Fa22kl2to 0.6 0.3 16,000
tEH2IRIZI0|E) 0.8 0.4 22,000
SAT@RIFI0|E) 1.0 0.4 31,000
76 PT2RI210|E) 1.2 0.5 100,000
LRt 0.8 0.2 6,700
=) 1.0 0.3 8,400
LRt 1.2 0.4 12,300
HIERT |LH 1.0 0.3 5,000
77 HIER7 LR 1.2 0.4 6,000
HIER7 |LHZ 15 0.5 7.000
HELIR 0.8 0.3 2,000
78 HE 1.0 0.4 2200
HELIR 1.2 0.5 4,000
golz|2 08 0.3 6,000
79 Hofz |z 1.0 0.4 8,000
Holz|2 1.2 0.5 12,000
£S5} 0.8 0.25 4,800
=53t 1.0 0.3 5,200
- £S5 1.2 0.4 6,000
=53t 15 0.8 6,900
=53t 1.8 1.0 11,000
£S5 2.0 15 24,000
AL 0.8 0.25 1,700
81 AL 1.0 0.3 2200
AEILER 1.2 0.4 3,700
AL 15 0.5 6,500
AMSHHERILNR 0.6 0.3 2,500
82 S HXIIR 0.8 0.4 2.800
ALSHHERILIS 1.0 05 4,600
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e +&8 21(m) | 2 #T;:n EUEZA | 25 e H
= Te e | ==1 71
H MW | (mL | cmB | (cmR
Akt 0.3 0.3 4,500
Abp=t 0.4 0.4 5,500
83 Akt 05 0.4 7,100
Akt 06 05 7,400
A=t 08 0.6 12,700
SR02|(2HYR) 1.0 0.3 4,000
84 SZ0H|(2FUR) 1.2 0.4 4,800
20 |(2FUR) 15 05 9,700
AAED|(5XIZE) 0.3 12,000
AAED|(5X[ZE) 0.4 15,000
- AAED|(5X|ZE) 05 20,000
AAIEED| 1.0 12,000 2K|
AAZEZD] 12 15,000 2-3X|
AAEZD] 15 20,000 3xloj&
ZELIR 0.6 0.3 1,200
o LR 08 0.4 2,000
LR 1.0 05 3,900
LR 12 0.6 6,200
EXALIR 1.0 0.3 2,500
87 EXALIR 12 0.4 3,000
SRR 15 05 7,900
FEL= 1.0 0.3 1,000
88 FELIR 12 0.3 1,400
FELR 15 0.4 2,300
Tl 12) 0.3 0.25 5,000
ZIFel(E71=) 0.6 0.4 10,000
89 ZIFeH(E71=) 08 05 23,000
ZIFel(&712) 1.0 0.6 40,000
ZIFe(E7 1) 1.2 0.8 80,000
AEZ(HER) 0.3 0.3 1,500
% AER(EER) 0.4 0.4 2,000
AEE(EER) 1.0 0.8 25,000
AEZ(HER) 1.2 1.0 35,000
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e sz e PeTEy =5
MW | (mL B
TELIR 0.3 15,000
TELIR 0.4 18,000
91 TELIR 0.5 22,000
TELIR 0.6 32,000
HEITIINENS 0.3 4,600
2 HEITIINEN 0.4 8,000
HEITIINES 0.5 13,500
SHALIR 0.3 6,000
SHILIF 0.4 7,000
SHAILIR 0.5 9,000
% SHALIR 0.6 12,000
SHALIR 1.0 40,000
SHAILIR 15 150,000
AR 0.2 3,000
AT 0.3 3,400
94 BEAFELIR 0.4 4,500
SSAFELR 05 8,700
AT 0.6 10,800
Eloyst 0.3 2,500
95 Ehoyst 0.4 2,800
Eloyst 0.5 5,800
el 0.3 2,800
3U= 0.4 5.100
9 3U=(EY) 0.6 24,700
IR (S ) 08 47,200
3ARS2ZD) 1.0 81,800
BURLIE 0.25 2,800
97 BIURLIT 0.3 3,500
ST 0.4 5.100
LA 0.25 3,300
98 CEERLIF 0.3 4,200
L 2IRHLER 0.4 9,300
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remal +=H AT(m) | gk Aﬂi& STXIZd | YRIA == H|Z
TL\m TS |TEE BLS0S | - ES0 7
H MW | (mL | (cmB | (emR
S = 1.2 05 70,000
=122 15 0.6 100,000
99 =12 2.0 0.8 200,000
=12 25 1.0 330,000
e = 3.0 1.5 600,000
E20H 12 0.5 80,000
S 15 0.6 110,000
SR 18 0.8 170,000
100 =5 2.0 1.0 250,000
SFAA 25 1.2 430,000
SFAA 3.0 1.5 810,000
=5 35 1.5 1,070,000
rdasal,) = QIEUL AAMEXE SoHME B4 ~ USLICH "APBSEE, o 2SI 2740 JoM 22 Sz=Z4MATH QlHY &

el 9% [BI27P7]] Birhiel (MISH]S 0IZal0 218 HUFAY| HIRILICY
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